C:# Comparing Fraction Relative Size Name:

Solve each problem. Answer with the fraction. Answers
1) L . .9 . . . 8
Which islighter? A shopping cart that is /10 full of pillows or a shopping cart that is /10 1
full of sodas? '
2) : o . 4 . 6 5
Which has more water? A swimming pool that is /5 full or onethat is /5 full? :
3 1 3 3
) Which has less people? A school busthat is /5 full or acar that is /g full?
4,
4 5 _ 4
Which is longer? 7 of aminute or / of an hour? .
5) L .4 .3 6
Which is less full? A dump truck that is /5 full or one that is /7 full? :
7.
6) o 4 2 :
Which islighter? /5 of agram or /5 of akilogram?
8.
7o 3 2 .
Which is heavier? /5 of agram or /5 of akilogram? o
8) S 2 6 10.
Which islighter? /g of apound or /g of apound?
9 10 9 H
) Which has the greater capacity? /5 of agallon or /5 of agallon?
12.
10) . . 2 T o
A jogger isrunning /3fuII speed. A car isdriving /3fuII speed. Which is quicker? 13
3 1
1) Which islonger? 7, of an hour or /7, of aday? 14
12 3 1 >
) After ayear Billy had grown /4 of afoot taller and Faye had grown /4 of afoot taller.
Which is more?
1 2
13 \Whichis heavier? /3 of apound or /3 of apound?
. 5 6
19 \Whichis shorter? 7. 10 Of an meter or /7 of ameter?
1 3
19 \which is shorter? /, of aminute or 7, of an minute?
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Ch Comparing Fraction Relative Size Name:

Answer Key

Solve each problem. Answer with the fraction. Answers
1) L : .9 : : . 8 9
Which islighter? A shopping cart that is /10 full of pillows or a shopping cart that is /10 1 / 10
full of sodas? '
6
. . . . 4 . 6
2) Which has more water? A swimm ng pool that is /7 full or onethat is /7 full? 2 !
3
3 1 3 3 >
) Which has less people? A school busthat is /5 full or acar that is /g full? 4
4. 6
5 4 3
D Whichis longer? / of aminute or /g of an hour? . .
4
5) . . . 4 . 3 6. 5
Which is less full? A dump truck that is /5 full or one that is /7 full?
2
6 4 2 b >
) Which islighter? /5 of agram or /5 of akilogram? 2
8. 8
2 10
L Which is heavier? 3/5 of agram or /; of akilogram? 9 16
1
T 2 6
8 Whichis| ighter? /g of apound or /g of a pound? 10. 3
1
9 0 o 11. 4
) Which has the greater capacity? /5 of agallon or /5 of agallon? 3
12. 4
10) , . . .2 1 L 2
A jogger isrunning /3fuII speed. A car isdriving /3fuII speed. Which is quicker? 13 3
5
L 3 1
1) Which islonger? 7, of an hour or /7, of aday? 14 10
7,
15. 4
12) . 3 1
After ayear Billy had grown /4 of afoot taller and Faye had grown /4 of afoot taller.
Which is more?
1 2
13 \Whichis heavier? /3 of apound or /3 of apound?
. 5 6
19 \Whichis shorter? 7. 10 Of an meter or /7 of ameter?
1 3
19 \which is shorter? /, of aminute or 7, of an minute?
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